T £ T
FA AR LLIAT 706 782 887| 1,669
AL ER LI BT 1,057 1,227| 1,328] 2555
JLEEHT 2,320| 2,734| 3004 5738
HEBCHT 40 39 55 94
A& B O HT 20 27 37 64
& <FHT 33 47 46 93
PE &0 5 <F T 36 42 42 84
FiENHT 547 607 660| 1,267
75 7 18 A BT 115 98 104 202
b8 A BT 22 30 36 66
ako0=1: 28 35 40 75
B aET 30 39 31 70
1 HT 46 59 75 134
A HT 61 79 78 157
ZHT 47 43 59 102
HMEFRET 42 44 41 85
F T 48 73 77 150
= RHT 44 42 50 92
R ET 32 42 46 88
Eoikanlidl 36 33 48 81
IR BT 67 70 92 162
HaET 38 51 56 107
S FHHET 50 48 62 110
N 191 226 252 478
= R BT 1,072| 1,182 1.352| 2,534
= H O 84 83 102 185
Fift = HT 12 11 12 23
it EHT 920 93 106 199
EHT 20 21 22 43
= EHT 46 54 58 112
H—TH 35 23 26 49
HWM=TH 26 36 33 69
HM=TH 88 97 113 210
HMmTH 34 39 42 81
HMATH 62 64 73 137




T £ HEY (B T

HI<TH 75 75 86 161
A=HT 30 28 31 59
ilFl 5R SF HT 50 65 66 131
L X THET 48 48 47 95
BRI HT 122 91 108 199
HNET 839] 1,102] 1,173] 2275
B [E T 107 125 113 238
75 it BT 225 254 267 521
FAHT 236 335 355 690
K HETE 40 50 61 111
W & BT 122 153 161 314
NEFErHT 233 229 256 485
KEHET 114 115 150 265
39 AL BT 228 264 297 561
HiE H5 T 70 77 102 179
KIEET 18 21 23 44
% R T 9 10 13 23
e LLI BT 272 294 299 593
b, B T 69 69 79 148
7k B2 SFHT 150 174 195 369
i [ T 88 107 127 234
& H By 467 454 548| 1,002
Y, e T 223 219 252 471
LT 429 484 516/ 1,000
[/ Et) 11,489 13,063| 14,470 27,533
21 - ET 1,948 2,302| 2499| 4,801
7% T 78 103 100 203
FZHT 125 169 158 327
AR EHT 190 213 235 448
X 3BT 154 172 211 383
[/ Et) 2,495 2959] 3203 6,162
% HHET 1,022| 1,245 1,260 2,505
13 BT 791| 1,000 1,068 2068
541 BT 103 137 155 292
FHT 1,208 1529] 1648 3,177




T £ T

LI FH BT 232 283 284 567
% H 1L BT 1,204] 1,415 1556| 2,971
FHHET 617 714 768 1,482
SR Ji7 ET 865 1,097| 1,145 2242
[/ Et) 6,042| 7,420 7.884| 15304
L =1EHr 61 93 98 191
T =15HT 964 1,104] 1,277] 2,381
gl 1,048 1,223| 1424| 2647
= HRET 268 360 382 742
KiTHET 35 57 61 118
= B Ey 22 26 23 49
F F EPHT 115 180 199 379
XiRERT 432 480 431 911
[/ &) 2,945| 3523| 30895 7418
1 FH T 191 261 276 537
A BT 46 66 79 145
=] 354 367 445 812
F ST 73 105 123 228
A 3k T 38 62 54 116
5L HT 216 309 322 631
Y A% T 36 58 71 129
FE L KHT 59 96 86 182
# AT 67 104 110 214
[/ Et) 1,080| 1,428 1566| 2,994
K& <FHT 109 120 150 270
J\SEHT 138 205 233 438
Gi: 2N 124 151 174 325
5 ElFFET 752 856 836| 1,692
=T 185 209 262 471
iz 50 66 73 139
FaHT 112 147 149 296
R BT 371 466 455 921
55 F] T 411 488 499 087
X8 FH &R <F AT 23 26 40 66
8 H &R F AT 46 51 72 123




HT & HEY (B z

6 FH &R AL BT 1,036] 1,324 1412| 2,736
BR F0HT 68 78 92 170
[/ Et) 3,425\ 4,187| 4.447| 8,634
/N SRHET 4567| 5298| 5784 11,082
INFRET 1,043| 1277| 1326/ 2603
it Fa T 560 690 719 1,409
AT 335 377 395 772
=2 T 54 78 75 153
/NER T 357 483 494 977
ith 2z PN ET 143 176 173 349
A Fh T 210 313 311 624
Jiti [58 =F HT 327 402 429 831
78 FH P ET 467 510 531 1,041
INRETER—TH 118 121 148 269
INRETER_TH 159 153 153 306
INRETER=TH 214 278 305 583
INKETEE—T B 27 28 27 55
INKBTFEZT B 51 66 70 136
INKBTEE=T B 79 89 83 172
[/ Et) 8,711| 10,339 11,023 21,362
[ & ) 36,187| 42,919| 46,488| 89,407
AN P 3 450 408 437 845
(& Ef) 36,637| 43,327| 46,925 90,252




